St. Mary’s Convent Girls High School

(2" Term Syllabus 2020)

Class Five

Art and Craft:

Activities:

Running Duck,

Flowery ideas, Stencil fun,

Quilling, Printing.

Do all these activities on sketch book,

You can take guidelines from your

“Art and Craft Book,”
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2" Term Computer Class:5P,G,B
St.Mary’s convent Girls High School

Unit # 4: The Internet.

Answer these questions:

Q1. Why do we need an internet browser?

Ans. Internet browser enables us to connect to the internet and view
information from the World Wide Web.

Q2. What are the different uses of the internet?

Ans. The most common uses of the Internet are browsing the Web for
information and sending messages called email.Blogging, instant
messaging, chat room, and social networks have become popular ways
of communicating through the Internet.

Q3. What is the role of the internet service provider?

Ans.The ISP assigns a user name and password to each user to connect
to the Internet. When a user 1s connected to the Internet, he or she is said
to be online. When a user 1s disconnected from the Internet, he or she is
offline.

Q4 . What are the benefits of cloud storage?

Ans. Several organizations use cloud computing and storage because it
1s less costly and more reliable than storing all data on computers.Cloud

computing offers easier access to data and greater reliability.If data is



2" Term Computer Class:5P,G,B
accidentally deleted from the computer ,it can be easily retrieved from

the cloud,Dropbox,Google Drive, OpenDrive.

Unit#5: Learning through the Internet.

Answer these questions:
Q1. How does online learning support education?
Ans. Online learning is the use of internet resources and websites to
acquire new knowledge and skills. It 1s cheaper.
Q2. What are the advantages of e-books?
Ans. E- book is an electronic version of a book. E-books can be read by
a desktop computer, laptop or tablet. Text books, story books,
encyclopedias, and many other books are available in the form of
e- books on websites.
Q3. How do online quizzes help students?

Ans. Online quizzes help the students to receive instant
feedback.Online quizzes are a lot of fun and cover many different

topics and subjects.

Unit#6:  Formatting in Ms. Word 2010

Answer these questions:

Q1. Name the types of text effects.



27 Term Computer Class: 5P, G, B
Ans. Text effects are the special effects such as Shadow, Reflection
and Glow that can be applied to the text.
Q2. How do you remove any formatting style in Ms. Word?
Ans. Select the text that you want to remove an effect from.
On the Home tab, in the font group click Clear Formatting.
Q3. What is bold , italic and underline?
Ans. Bold:
Text is made bold to make it appear darker than the normal
text.
Italic:
Text can also b italicized to make it appear slanted.

Underline:

Underlining the text puts a line below it.
Q4. What are the types of alignment in Ms. Word?
A paragraph can be aligned in four different ways:
1. Left- aligned
2. Right- aligned
3. Center- aligned
4. Justified

Q5. What does formatting means?
Ans. Formatting means changing and arranging the appearance of

the text in a document to make it attractive.



2" Term Computer Class:5P,G,B

Unit#7: The Future of computers

Answer these questions:

Q1. What are wearable computers?

Ans. The latest computing developments include wearable
computers. Computer applications such as e-mail, database
management tools, and multimedia programs are being integrated
into watches, mobile, phones, spectacles and clothing.

Q2. Explain what a brain- computer interface attempts to do?

Brain computer 1s device that uses an interface to detect, interpret,
and translate electric signals emitted from the brain.

Q3. What is voice- recognition technology?

Computer scientists are also developing hands-off interfaces
through which computer can be controlled through sounds.

Voice- recognition technology is used in smart phones to

transcribe voice messages into SMS messages accurately.
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St Mary ¢ s Convent High School, GRW
Class:5™" B/G/P 2" Term,Syllabus,2020. Subject: Maths

5 Distance, Time , and Temperature
Pg #93 Ex#5(a)
Select the correct answer from the given options.
a. Which is the correct unit to measure the height of a tree?
Centimetre Kilometre Millimetre Metre
b. Convert 25 m to cm
25 cm 0.25 cm 2500 cm 2.5cm
c. Convert 42 cm to mm
0.42 mm 4.2 mm 42 mm 420 mm
d.The sum of 10 km and 15 km 150 m is
25 km 150 cm 5km 150 m 25150 m 15 km 160
e.The difference of 12 km and 1800 m is
600 m 10200 m 102 km 1788 m
Pg#99 Ex#5b(3)
a.Which of the following units are used to measure the time of a journey between two cities.
Seconds minutes hours a.mor p.m
b. How many minutes are there in 180 seconds?
30 min 10800 min 3 min 18 min
c.A bus took 3 h 46 min to reach its destination.How many minutes did it take ?
180 min 226 min 45 min 345 min
d. 3661 seconds make
6 h 61 sec lh 1 min 1 h 6l sec 1 h 1 min 1 sec
e.Rehan reached home in half an hour. In how many minutes did he reach?
15 min 54 min 20 min 30 min

Pg#116 Ex#6a



a.If the cost of 1 mobile is Rs 35000,what will be the cost of 5 mobiles?
Rs 35000 Rs 175 000 Rs 7000 Rs 3500
b.The cost of 2 dozen pencils is Rs 72. What is the cost of each pencil?
Rs 36 Rs 144 Rs 6 Rs3

c. 25 bags of rice weigh 75 kg.What is the weight of 1 bag of rice?
1875 ke 3 ke 3000 ke 3 ks
d.If a car travels 50 km on litres of petrol,how far will it travel on 10 litres of petrol?

50 km 5km 500 km 100 km

e.Three one-litre ice-cream containers cost Rs 750. The cost of one container will be?

Rs 215 Rs 1250 Rs 25 Rs 250
Pgl126Ex7a
a.An angle greater than 0° and less than 90° is an /a angle.

obtuse right straight acute
b.An angle greater than 180° and less than 360° isa/an angle.

right reflex obtuse acute

c. The magnitude of a reflex angle adjacent to £~ ABC is

90° £ ABC 180° £ ABC 360° < ABC
d.An angle with magnitude 360°  252° is angle.
Obtuse straight reflex acute

e. The number of right angle in straight line are right angles.

one two three four
Pg#171 Ex9a
a. The average of 10,20, and 30 is

60 6 20 180
b. To find the average of 2.5, 3.5, 4.5, and 5.5 we divide their sum by

2 4 8 10

c. If each of the 5 logs is 5 m long, then the average length is



30m 125 m

25m Sm

d.To find the average of a set of quantities, the quantities are

added multiplied

e.The average of a data will be

the highest value the lowest value

Pg#99 Ex#5b(4)
4.Convert the hours into minutes.
(a) 14 h = 14 X 60 = 840 min
(¢) 12 h 49 min
=12 x 60+ 49
=720+ 49
=769 min
5.Convert the minutes into hours.
(a) 60 min
=60 min ~ 60 =1 hrs
6.Convert the minutes into seconds.
(a) 140 min
=140 x 60

=8400 sec

7. Convert the seconds into minutes.

(a) 240 sec
=240 + 60 min
=4 min

Pg#104 Word Problems

subtracted divided

the mean value an odd number

(b) 32 h =32 x 60 =1920 min
(d) 15 h 37 min
=15 % 60 + 37
=90 +37

=937 min

(b) 240min

=240 min ~ 60 = 4 hrs

(b) 90 min 10 sec
=90 x 60+ 10

=5400 + 10 = 5410 sec

(b) 600 sec
=600 +~ 60 min

=10 min

4. Bilgees takes 3 hr 25 minutes to complete a task, while Sanam takes 2 hr 45 minutes to
complete the same task. Who takes longer? Find the difference in time.

Solution:



Z hr 25 min R.W

2 hr 45 min 60+25=85 45=40

0 hr 4 Omin

Ans: The difference in time 40 min.
Pg#107 Ex#5d(4)

4.Change the given years into months.

(a) 13 years (b) 7 years
1 year = 12 months 1 year = 12 months
13 years = 13 x 12 7Tyears=7 x 12
= 156 months = 84 months

Pg#108 Word Problem

2.Javaid practiced karate for 2 hours each day for 3 weeks.Calculate the number of
hours he spent practicing karate.

Solution;: 2x7=14
14 x 3 =42 hrs
Pg#112 Ex#5e(6)

6.Convert these temperatures into the other scale.

(a) 122°F (b) 77° F (c) 113°F
=122 32 =77 32 =113 32
- 5 - 5 - 5
—96></q 45’></9, $1 X3
=10X%X5 =5X%XS5 =90X%x5
=50°C =25°C = 45°C

(d)45° C (e) 40° C #®35°C
_ 9 — 9 — 3
_%/Xz X = %xy
=9Xx9 =8 X9 =7X%X9
=81+ 32 =724+ 32 =63 +32

=113°F = 104°F =95°F



Pg#117 Ex6a  Unitary Method

(a).A year’s rent for a house is Rs 18000.1f the Shah family wants to rent the house for 7
months,how much rent will they have to pay?

Solution:
12 months rent of house = Rs 18000
1 month rent of house = Rs 18000 + 12
=Rs 1500
7 month rent of house = 1500 x 7
=Rs 10500

(b). With 15 litres of petrol in its tank, a car can cover 270 km.What distance can the
car with only 12 litres of petrol?

Solution:
Car covers distance with 15 litres=270km
=270+15
=18 km
Car covers distance with 12 litres petrol =18 x 12
=216 km

(C) .If the cost of 1 packet of crispy chips is Rs 10 ,what is the cost of 20 packets?How
many packets can be bought for Rs 130?

Solution:

1 packetcost = Rs 10

20 packet cost = 10 x 20 = Rs 200

Rs 10 is the cost 1 packet.

Rs 130 is the cost of = 130 = 10 = 13 packets

Pg#121Ex#6 Word Problems

(a).Sultan can colour 4 pictures in 6 hours.How many pictures can he colour in 15 hours.
Solution:

4:6=x:15



=4 x15=x x 6 (cross product)

x=6 ans = 6 pictures

(b). Latif ran 10 km in 2 hours . If he continues at the same pace, how long will he take
to cover7 km.

Solution:

10:2=7:x
0_7

2 x
10 xx = 7%X2 (cross product)

10x = 14

= 1=

4
X=—
W

ul| 3

(c).8 packets of candy costs.Rs 340 what is the cost of 15 packets of candy?

Solution:

8:340 = 15: x

8 b

340 x

8§ X x =15 X340 (cross product)
8x = 5100

5100
Xzz—E;—ZZ:RS637ﬁ

Pg # 121 Ex # 6b (4)

Simplify each of the following ratios.

(a) 20 : 45 (b) 2 weeks : 10 days (c¢)1331:121
4 : 9 (divided by 5) 14 days : 10 days % : %
7 days : 5 days 121 : 11

1 : 1



Pg#158 Ex8a Word Problem
(1)A rectangular swimming pool is 18 m long 9 m wide. What is its Perimeter?
Solution: Perimeter=(L +b ) x 2

=(18m + 9m)x2

=27 x 2= 54m
(2) If the dimensions of a box are 8 cm by 12 m what is its Perimeter?
Solution: Perimeter=(L +b ) x 2

=@m +12m)x2

=20 x 2= 40cm
Pg#167 Ex#8b (10)

Use the formula to work out the areas of the following rectangles?

(aL=10cm ,b=7cm

(b)L=21m, b=5m

Area=L xb Area=L xb
=10 x7 =21x5
=70 cm? = 105 cm?

(c)L=18cm,b =9 cm

b)L=35m, b=6m

Area=L xb Area=L xb
=18 x9 =35%x6
=162 cm? = 210 cm?

Pg #167 Ex#8b(11)

Use the formula to wrkout the areas of the following squares?

(a)L=13cm (b) L=40 cm
Area=L xL Area=L xL
=13 x13 = 40 x 40
=169 cm? = 1600 cm?
(¢))L=17cm (b) L=12 cm
Area=L xL Area=L xL



=17 x17 =12 x 12

=289 cm? = 144s cm?
Pg#167 Word Problems
(1) Arectanglular field is 20 m x 15 m. What is its area?

Solution: Area of rectangle =L x b

=20m x 15 m=300m?

(2) The area of a fertile field is 512 m?. A square piece of field with 20m is used to plant
potatoes.How much area is left unplanted?

Solution: Fertile field = 512 m?
Square field of potatoes = 20 X 20 = 400 m?
Unplanted area = 512 400 = 112 m?
Pg#158Ex#8a

Find the perimeter of each rectangle?
(@A L=4cm,b=3cm
Perimeter=(L + b))
=(4+3)x2
=7x2

=14 cm

(c) L=5cm,b=1cm

Perimeter=(L + b))
=(5+1)x2

=6x2

=12 cm

Pg#158 Ex#8a

(b) L=7cm,b=4cm
Perimeter =( L + b)
=(7+4)x2
=11x2

=22 cm

(d L=8cm,b=2cm
Perimeter =( L + b)
=(8+2)x2
=10x2

=20 cm

Find the perimeter of square with following sides using the formula?

(a) 30 cm

(b) 21 cm



Perimeter=L+L+L+L Perimeter=L+L+L+L

=4 xL =4 xL
=4 x30 =4 x21
=120 cm =84 cm
() 106 cm (d) 35 cm
Perimeter=L+L+L+L Perimeter=L+L+L+L
=4 xL =4 xL
=4 x 106 =4 x35
=424 cm =140 cm

Define perimeter?

Perimeter is the sum of the length of the boundary lines of the region,its unit is cm.

Define Area?

Area is a surface covered by a closed region,its unit is cm?.
Geometry

Pg#126 Ex#7a (4) Note: Do it on book.

Measure the following angles with the help of a protractor.

Pg#127Ex#7a (7) Note : Do it on book.

Calculate these reflex angles,using a protractor.

Pg#131 Table#2

Learn the types of triangles according to sides and angles.

Pg#146 Quadrilaterals

Define Quadrilaterals: All 4-sided shapes are called Quadrilaterals .They can also be called
quadangles.The sum of angles of two triangles = 180° + 180° = 360°

Note : Learn all formulas of quadrilaterals given on page (table).You have to learn and draw
shapes ,writes name ,sides and angles on your book.









Second term syllabus
Science
Class 5
Part 4: Energy, Forces and machines

Unit # 8: Forces in Action

Words Easy English Meanings

1 | Force A power effect s, & 8

2 | Plasticize A synthetic material like clay but sl Hhz ¢ a i S
remaining soft

3 | Friction Rubbing, the condition of having SR
been made smooth or slippery

4 | Gravity The force of attraction Ja LS

5 | lllustration A universal example JUa - A3 gad

Complete these sentences about friction.

Friction slows down, stops or makes it hard for an object to move. Friction
produces heat. Rough surfaces have more friction. When we apply the brakes on
a vehicle, friction is the force which slows the vehicle. If a surface is made smooth

and rounded, we say that it is streamlined. Lubricants such as oil and grease can
reduce friction.

Exercise
1. Choose the correct answer.
i) Which of these is NOT a natural force?

a) Running water b) Wind ¢) a machine
d) Gravity

ii) Forces can be measured by using an instrument called a




a) Summer balance b)Spring balance c) Autumn balance
balance

iii) Which of these is a way to reduce friction?

a) Lubricants b) QOil c) Grease
of them

iv) The force that holds planets in their orbits is called?

a) Gravity b) Space force c) Motion
Magnetism

v) Which of the following is not a simple machine?

a) Wedge b) Inclined plane ¢) Wheel borrow

d) Winter

d) All

d)

d) Lever

2.Match the definition in column A with the correct term in column B.

Column A Column B

The amount of matter in an objeet | Force

The amount of gravitational force acting
on objects on the Earth T

The force which opposes motion.or /Weight
movement, and produces heat

A push or pull exerted by an object on Friction
another object

3. Fill in the blanks.

i) A force is a push or a pull between two objects.

ii) The instrument used to measure force is called a spring balance.




iii) The unit of force is the Newton (N).
iv) The force which stops or slow or slows down a moving object is called friction.

v) All matter on our planet exerts an invisible force of attraction on other matter
which is called gravity.

vi) Gravity always attracts things towards each other, but it never repels them.
vii) The measure of the amount of matter in an object called Newton.

viii) Weight is the amount of gravitational force exerted by the Earth on objects

on its surface.

ix) Sir Isaac Newton was a scientist who discovered the force of gravity.

X) Friction creates heat which becomes a problem in machines.

4. Mark these sentences with v or x .

i) Frictional force stops or slows down moving objects. v

ii) The unit of force is the kilogram. X

iii) The unit of weight is called the Newton. X

iv) Mass is the distance of an object from the Earth. X

v) Rough surfaces increase friction.V/

vi) On astronaut’s body mass on the moon will remain the same as on Earth.V
5. Answer these questions.

Q.1Compare weight and mass with the help of a table of comparison.

Weight Mass
The gravitational force on an object is The measure of the amount of matter
known as weight. in an object is known as mass.
It’s Sl unit is the Newton. It’s Sl unit is the kilogram.
Weight is affected by the force of Mass is not affected by the force of




gravity. gravity.

Q.2 Define the following with examples define force? And gravity?
Ans: a. Force:

Force is a push or pull exerted by one object on another. The wind,
running water, bulldozers and truck are its examples.

b. Gravity
The force of attraction between two objects is known as gravity.
Examples:

Your weight, apple’s falling from a tree and kicking a football up in the air, are the
examples of gravity.

Q.3 .What keeps the Earth in its orbit as it goes round the Sun?
Ans: Gravity keeps the Earth in its orbit as it goes round the Sun.
Q.4 Explain why the weight of a person or object decreases on the Moon?

Ans: The moon has less mass the Earth so, it doesn’t have as much as a
gravitational pull so, and moon attracts every object with less force than earth
and so, the weight decreases.

Q.5 what is the relationship between surface type and the amount of friction?

Ans: The relationship between surface type and the amount of friction is very
important because rough surfaces have more friction and smooth surfaces have
less friction.

Q.6 a. State any two situations where friction can be helpful.

b. State any two situations where friction can be a problem. How can these
problems be solved?

Ans: Friction is helpful in many ways




a. The friction between your shoes and ground stops you from slipping
friction help you to write.
b. Friction can also create some problems.

Friction creates heat, so, it can become a problem for working machines.
Friction also tends to wear away things, causing damage.
Through lubrication and streamlining we can be solved these problems.

Q.7 How would life be different if there was no friction at all? List three things
which would be different to do, and three things which would become easier?

Ans: Without friction life would become a formless homogeneous and feature less.

Three things which would be difficult without friction are:

i) Holding fone
ii) Still staying in same place
iii) Belt, pulley drive

Three things which would be easier without friction are:

i) Sliding on roads without any stoppage and fuel.

i) No burning and forces fires.

iii) We would be able to fly airplanes at such great speed that were never done
before.

Q.8 What is Inertia? Give some examples of Inertia that we can see in everyday
life?

Ans: Inertia:
Inertia is the resistance to any change in an object’s movement.

Some examples of Inertia are:



i) One’s body movement to the side when a car makes a sharp turn.
ii) Tightening of seat belts in a car when it stops quickly.

Unit # 9: Electricity

Words Easy English Meanings
1| Atoms Small component of an element A
2 | Fascinate Cause to be interested UaiseS oyl il ilgd
3 | Energized Raise to a higher energy level a8
4 | Thunder-storm | Heavy rain or hail with thunder or O sk
lightning
5 | Appliance Goods for home or office use A
Exercise:

1. Choose the correct answer.
i) Which of these correctly defines electric current?
a) The flow of protons in an object
b) The flow of atoms in an object
c) The flow of electrons in an object
d) The flow of neutrons in an object
ii) When an object gains electrons, it:

a) is positively charged b) is negatively charged c) remains
neutral d) does none of above

iii) An object becomes charged when:

a) It loses or gains electrons

b) The number of electrons is equal to the number of protons
c) Itis raining

d) It remains neutral




iv) If a material is negatively charged, it will:
a) attract a negatively charged object

b) attract a positively charged object

c) repel a positively charged object

d) none of these

v) Lightning is an example of:

a) electric current b) static electricity c) sound energy d)
none of these

2. Fill in the blanks.
i) The flow of electrons in matter is called current.

ii) The build-up of an electric charge on the surface of objects is known as static
electricity.

iii) In an electric circuit, the current flows from the battery or main sockets to the
terminal.

iv) Materials which allow electric current to pass through them easily are called
conductors.

v) Materials which do not allow electric current to pass through them are known
as insulators.

vi) All matter is made up of tiny particles called atoms.
vii) Lightning is caused by static electricity.

viii) When the number of electrons in an atom is equal to the number of protons,
the atom is said to be balanced/ neutral

ix. When an atom loses electrons it becomes positively charged.

X. When an atom gains electrons it becomes negatively charged.



3. Match the column A with B

Column A Column B
The particle in an atom having a Static electric
negative
The particle in an atom having no Electric current
charge
The flow of electrons in an object Electron
The in balance of positive and negative | Protons
charges

4. Mark sentences with v or x
i) A positively charged object will attract another positively charged object. X

ii) If some electrons are removed from an object, the object becomes negatively
charged. X

iii) A material that does not conduct electricity is called an insulator. V

iv) A spark is an example of electric current. v

v) An atom is said to be neutral if has more protons than electrons. X

5. Answer these questions.

Q.1 Define electric current?

Ans: Electricity that flows through a material is called a current.

Q.2 Describe in your own words how electric current passes through a wire?

Ans: The free electrons move in the wire in random condition or direction until a
potential is applied across its end. Due to this drift velocity (approx 10" 2m/s)
the electrons drift each other and the current flows.

Q.3 Explain why you get fly away hair in cold, dry weather?

Ans: In winter, the cold air creates less moisture in the environment, so we have
dry and fly away.




Q.4 Define static electricity?

Ans: Static electricity:

When electricity gathers in one place, it is known as static electricity.

Q.5 Why does lightning tend to occur during storms?

Ans: If too many electrons gets so, hot that very fast, the air between the clouds

gets so hot that it glows. This is a spark. If this spark is huge, it is called lightning.

Unit # 10: Magnets and Electromagnets

Words Easy English Meanings
1 | Attracts Direct towards itself UaieS (ol il
2 | Invisible Impossible to see ~ )-Lu EVYSPVLN RPN
C&u\
3 | Visible Capable of being seen P PICRNEPVIN RPEN
22
4 | Sprinkle A light falls in shower some collection | L% - US3ea

Short questions

Q.1 What surrounded every magnet?

Ans: Every magnet is surrounded by a magnetic field.

Q.2 would the like or opposite poles of two bar magnets attracts each other?

Ans: The opposite poles of two bar magnets attract each other.

Q.3 List three ways in which a magnet can become demagnetized?

Ans: A magnet can become demagnetized when it is:

1. Dropped repeatedly




2. Heated
3. Hammered
Q.4 Name four devices which use electromagnets?
Ans: Electromagnets are used in radio, generators, doorbells and maglev trains.
Exercise:
2. Choose the correct answer.
i) A magnetic field is the area around a magnet where its force is?
a) Weakest b) Strongest c) Visible d) Invisible
ii) Which of these can prevent a magnet from becoming demagnetized?

a) Store it carefully b) Put it in the oven c) Store it close to other
magnets  d) Hit it repeatedly

iii) Why are electromagnets useful?

a) They are always magnetized

b) They look nice

c) They allow us to control magnetism

d) They are heavy

iv) Where does the needle of a magnetic compass always point?

a) South pole b) Upwards c) North pole d)
Equator

v) Which of following does not use an electromagnet?

a) Speakers b) Steam train c) Maglev trains d)
Generators

3. Fill in the blanks



i) A piece of iron or steel that can attract objects made of iron or steel is called a
magnet.

ii) The area around a magnet, where its force of attraction can felt is called the
magnetic field.

iii) Opposite poles of a magnet attract each other, while similar poles repel each
other.

iv) The process or method by which a magnet loses its power is called
diamagnetism.

v) An iron nail can be turned into a magnet by passing electric current around it.
Such a magnet is known as an electromagnet.

4. Mark sentences with v or x

i) Magnetism is a type of electricity. X

ii) Magnets attract only steel or iron objects. X

iii) Magnet can never lose their magnetism. x

iv) The magnetic field of a magnet is the area of force around it. Vv
v) Electromagnets cannot be switched on and off. X

5. Answer these questions.

Q.1 Define the following terms:

a) Magnetic and non-magnetic materials

b) Magnetic field

Ans: a) magnetic and non-magnetic materials

The metals which can be attracted by a magnet are called magnetic materials

Glass, plastic and wood are non-magnetic materials. Magnet never attracts non-
magnetic materials.



b) Magnetic field

Every magnet is surrounded by a magnetic field. The magnetic field is the area
around the magnet where its force is the strongest.

Q.2 what is meant by demagnetization? Explain any three ways to demagnetize
a magnet?

Ans: When a magnet loses its power we say that it has become demagnetized.
This can happen if magnets are:

1. Dropped repeatedly

2. Heated

3. Hammered
Q.3 What are electromagnets?
Ans: An electromagnet is a type of magnet that can be turned on and off.
Q.4 how can you turn an iron nail into a magnet?

Ans: We can turn an iron nail into a magnet by passing through electric current
from it.

Q.5 How can you increase the strength of an electromagnet?

Ans: We can increase the strength of an electromagnet by increasing the number
of coils around the iron nail or by increasing the flow of current in the wire.

Q.6Write any three uses of electromagnets in daily life?

Ans: 1.Electromagnets are used in the speakers of TVs and radios, in ATM cards, in
motors and in computer hard drives etc.

2. Electromagnets are used in doorbells and generators.

3. They are used to spread metals in scrapyards.



Unit # 11 : Light

Words Easy English Meanings

1 | Luminous Softly brighter radiant Oe o opaailsh
Yl S

2 | Blur A hazy representation Yaiad

3 | Edge The boundary of a surface e S Srhu oS
A (S

4 | Lunar Relating to moon Glrie —w 2ila

5 | Dispersion Spreading widely or driving off dee 1S 3y

Short questions.

Q.1 What is the name of a very dark shadow with no light?
Ans: Umbra

Q.2 What is the name of a lighter shadow?

Ans: Penumbra

Q.3 What time of day is it likely to be if your shadow is very short?

Ans: Midday
Exercise:
3. Choose the correct answer.
i) A pinhole camera is a camera that works without?

a) Lens b) light c) eyes
d) any of the above

ii) The image from a smaller hole in a pinhole camera is:
a) blurred b) sharper c) golden
iii) The image formed by a pinhole camera is:

a) upside down b) rotated 90 degree c) the right way up
none of these

d) silvery

d)




iv) Shadows are formed by:

a) light passing through an object

b) light shining from an object

c) an opaque object blocking the light

d) the moon

v) What happens during a lunar eclipse:

a) the sun passes between the earth and the moon

b) the moon passes between the earth and sun

c) the earth passes between the sun and the moon

d) the moon moves away from the earth

and the sun

3. Fill in the blanks

i) Eclipses can be lunar or solar. They can be partial or total.
4. Mark sentences with v or x

i) Total solar eclipses occur quite often. X

ii) Light is the fastest thing on the universe. Vv

iii) The umbra is a very dark shadow with sharp edges.

iv) The brightness of light is called its intensity. Vv
v) Dark colours reflect more light than light colours.

vi) Smooth surfaces reflect more light than rough ones.



vii) Shadow is always smaller than the object itself. X

5. Match the following.

Column A Column B
Umbra A little light can pass through
Penumbra Light can pass through
Opaque A light shadow
Translucent Dark shadow
Luminous Light cannot pass through
Transparent Gives off light

6. Answer these questions.

Q.1 in your own words explain how a shadow is formed?

Ans: Shadows are formed on the side of opaque objects where light cannot reach.
Q.2 .What kinds of materials are translucent?

Ans: Dark glasses, thin paper, and colorued plastics are translucent.

Q.3. What do you understand by the word transparent?

Ans: Some things allow light to pass through them quite easily. These things are
called transparent.

Q.4 .What happens during a solar eclipse?
Ans: During a solar eclipse, the moon comes between the sun and Earth.
Q.5. How does a lunar eclipse take place?

Ans: A lunar eclipse occurs when the earth comes directly between the sun and
the moon.

Q.6.What do you understand by the word partial solar eclipse?

Ans: Sometimes only part of the sun’s light is blocked, this is called a partial
eclipse.

Q.7 Name five luminous things. How are they different?




Ans: Sub, stars, oil lamp, torch and tube light are luminous things. They are
different with each other because of their intensity.

Part 5. Earth and the Atmosphere

Unit # 12: Air

Words Easy English Meanings
1 | inflate Fill with air or gas Uygr = S Ll s
2 | Deflate Release contained air or gas from Sasg-b S zola I

s

3 | Explode Burst outward Ligy s St
4 | Consumed Eat in moderately Ll 2 LleS
5 | Humid Air containing of water vapor )50 sha e e)g

Short questions.
Q.1 Why is nitrogen important to living things?
Ans: Nitrogen is important because living things need it to make proteins.
Q.2.What weather conditions are caused by water vapour in the air?
Ans: Humid weather conditions are caused by water vapours in the air.
Exercise:
4. Choose the correct answer.

i) What is the lower layer of the Earth’s atmosphere called?

a) Stratosphere b) troposphere c) mesosphere
d) thermosphere

ii) What does the ozone layer do?
a) It warms up the rays of the sun before they reach the ground
b) It reproduces the weather

c) Prevents some of the harmful rays of the sun from reaching the Earth




d) It prevents water vapour from farming
iii) Which gas forms over 75% of the atmosphere?

a) Oxygen b) nitrogen c) carbon dioxide
argon

iv) as you go up higher the air gets:

a) weaker b) thicker c) smellier
dirtier

v) Which of the following is NOT true:
a) air has no weight

b) air can be used as a form of energy
c) air has mass

d) air can be compressed

3. Fill in the blanks

i) The layer of air around the Earth is called the troposphere.

ii) Plants use carbon dioxide gas from the air to make food.

iii) Oxygen is used for breathing and burning.

iv) Air has weight and occupies space.

v) It is humid when there is a large amount of water vapour in the air.

vi) Moving air is called wind.
vii) Air that is squeezed into a small space is called compressed air.
viii) When air is heated, it rises.

ix) Nitrogen is the most abundant gas in the atmosphere.

d)

d)



X) The ozone layer is found in the layer of the atmosphere known as the
stratosphere.

4. Mark sentences with \/ orx

i) There is more oxygen in the air than any other gas. X

ii) compressed air is under greater pressure than air in the atmosphere. Vv
iii) Carbon dioxide is used by plants in photosynthesis. Vv
iv) Air is too light to have weight. X

v) The troposphere is the layer of the atmosphere farthest from the surface of the
Earth. X

5. Match the following.

Column A Column B

0.03% Of the atmospheric air is composed of
carbon dioxide

20.94% \</Of the earth’s atmosphere consists of
nitrogen

78.8% Of the atmospheric air is composed of
oxygen

6. Answer these questions.
Q.1 Name some of the gases found in air?

Ans: Oxygen, nitrogen, carbon dioxide, argon, helium, neon, hydrogen and some
other gases are found in air.

Q.2. why do astronauts have to wear oxygen masks in outer space?

Ans: Astronauts have to wear oxygen masks in outer space because there is no air
to breath.

Q.3 In what way is carbon dioxide useful?

Ans: Carbon dioxide is useful because it is used by plants to make their food.



Q.4. How is the ozone layer useful to us?

Ans: Ozone layer is very useful to us because it blocks most of the harmful rays of
the sun from reaching the Earth. It is a protection blanket round the Earth.

Q.5 what are some of the ways in which we use moving air?
Ans: It enables the movement of sail-boats and gliders.

It runs windmills, which are used to generate electricity.
Wind also helps in dispersal of seeds.

Q.6 what are some of the uses of compressed air?

Ans: 1. Compressed air is an important medium for transfer of energy in industrial
process.

2. It is used for power tools such as air hammer, wrenches and others, as well as
to atomize paint to operate air cylinder for automation.

3. Compressed air can support bicycles, cars and even aircrafts.
Q.7 what happens to oxygen if it is compressed and cooled to -200°C?

Ans: Oxygen can be changed into a pale blue liquid by compressing it and cooling
it to -200°C.

Q.8 Why is the airimmediately around the Earth more compressed than air that
is further up in the atmosphere?

Ans: Because of gravitational attraction, the air is immediately around the Earth
more compressed than the air.

Q.9 Why does the amount of water vapour in the air vary?

Ans: The amount of water vapour varies from place to place and from time time
because of humidity.



Q.10. How are some of the minor gases in the atmosphere used?

Ans: The other gases also have special uses for example; neon is used in electric

lights, while organ is used toproduce an orange glow in glass tubes, as in street

lights.
Unit # 13: Environmental Pollution
Words Easy English Meanings

1 | Sewage Drain system of waste material S5 Ak

2 | Herbicide Chemical agent that destroys plants | e3>k )

3 | Marine Relating to sea S e

4 | Devastation Destruction SEENRERE

5 | Deforest Remove the trees from s OsA Y S BEN
LS Ja

Exercise:

2. Choose the correct answer.

i) Which of the following is bio-degradable?

a) a rubber b)a pen c) a potato peel

d) an elastic band

ii) What does it mean if something is non-biodegradable?

a) It will decompose

b) It will not decompose

c) It is good for the environment

d) All of these

iii) Which of the following causes air pollution?

a) burning coal b) smoke c) exhaust fumes d) all

of them

iv) When waste is not disposed of properly, it can cause:



a) disease b) death c) pollution d) all of
them

v) Which of the following is not one of the three R’s.:

a) reduce b) reap c) recycle d)
reuse

3. Mark sentences with \/ orx

i) Materials which decompose naturally are known as biodegradable. vV
ii) Oil- spills and leaks in the ocean cause air pollution.  x

iii) Glass and metal are two examples of biodegradable material. X
iv) Land pollution does not have any effect on plant and animal like. x

v) The ozone layer of the atmosphere protects the Earth from the harmful rays of
the sun. Vv

vi) Half of the Earth is covered by water. X

vii) Water pollution may cause infection diseases like cholera and typhoid. Vv
viii) Paper is an example of non-biodegradable material. X
ix) Gold is an example of biodegradable material. X

x) Some natural disaster, like floods and landslides, are a result of environment.
X

4. Answer these questions.

Q.1 what does decompose mean?

Ans: Decompose means decay.

Q.2 what does non-biodegradable mean?

Ans: Non-biodegradable means such material which cannot be decomposed.



Q.3 Give examples of biodegradable waste and non-biodegradable waste?
Ans: Examples of biodegradable are:

Animals, their waste, fruits, vegetables, flower, paper.

Examples of non-biodegradable are:

Chemicals, paints, plastic, rubber

Q.4 what are three things you can do to reduce pollution?

Ans: These three things you can do to reduce pollution.

1. Recycle as much as possible.
2. Plant more trees,
3. When possible, use public transport walk or ride a bicycle.

Q.5 Define the following terms.

a) environment  b) pollution

Environment:

Ans: The environment is everything that is around us, wherever we happen to be.
Pollution

When the environment is damaged by harmful things, it is known as pollution.

ii) Complete the following table type of

Pollution Causes Effects Reduce

Land Chemical waste Toxic chemicals Dispose of the
produced by are transferred waste, properly
factories, human from one living recycle paper,
sewage, over use | thing to another. plastic, glass,
of herbicides bottles, card board




and aluminium
cans.

Air Smoke from Breathing When possible use
chemicals of disorders such as public transporter
factories, burning | asthma, depletion | or walk or ride a
of fossils fuels and | of protection, time | bicycle. Use CNG
smoke of vehicles. | ozone layer. rather than petrol

in cars.

Water QOil spills human Use of polluted Do not throw litter
sewage, use of water may cause into rivers, lakes
pesticides, of cholera, and oceans.
herbicides and typhoid, oil spills
fertilizers of cause immense
farmers. damage to sea life.

Part 6 Sky and Space
Unit # 14: The Solar System
Words Easy English Meanings

1 | Spherical Relating to sphere Las 28

2 | Celestial Relating to sky 5 slass

3 | Asteroids Minor planets PUp TR PYEN

4 | Rotate Turn around an axis LS ia S

5 | Probe An investigation instrument Ondia (g 8 = 568

Exercise:

2.Choose the correct answer.

i) What is the sun:

a) a planet b)an asteroid c) a satellite

d) a star
ii) Which is the smallest planet:
a) Mercury b) Mars c) Uranus d)

Venus




iii) How many planets are there in our solar system?

a) 6 b) 7 c)8 d) 10

iv) .Which planet is the closest to the Earth?

a) Saturn b) Uranus c) Neptune d)
Venus

v) Which planet is furthest from the Sun:

a) Mercury b) Mars c) Jupiter d)
Venus

3. Mark sentences with v or x

i) Small rocky bodies that orbit the sun called minor planets. Vv

ii) The Earth is the smallest planet. x

iii) Jupiter is the largest planet. Vv

iv) The sun is the biggest star in our solar system. Vv

v) Mercury’s surface is smooth. Vv

vi) There are man-made satellites that orbit the Earth. vV

vii) The sun and the eight planets revolving around it from the solar system.\/
viii) The sun is much larger than the Earth but it is smaller than Jupiter. X
ix) Asteroids are small rocky bodies that orbit the Earth. X

x) Telescopes and space probes help us know about the solar system. vV

4. Fill in the blanks

i) The sun has a diameter of 1,392,000 kilometer.

ii) The moon is the natural satellite of the Earth.



iii) All the planets, including Earth, orbit the sun.
iv) The light we see on the moon is reflected.
v) Saturn has fourteen moons.

vi) The asteroids are to be found between the orbits of mars and jupiter.

vii) Probes travel into space and send back information and photographs back to
Earth.

viii) The path of the planets round the sun is called an orbit.

5.Find out the name of planets.

i) The largest planet. Jupiter
ii) The smallest planet. mercury

iii)  The hottest planet. Venus

iv)  The closest planet to Earth. Mercury

V) The furthest from the sun. Neptune

vi)  The slowest to rotate.Venus/ Mercury

vii)  The fastest to rotate. Jupiter

viii) The longest orbit round the sun. Neptune
ix)  The closest to the sun. Mercury

6. Answer these questions.

Q.1 What is the natural satellite of the Earth called?

Ans: The moon is the natural satellite of the Earth.

Q.2 What are asteroids?

Ans: Asteroids are small rocky planets which orbit the sun.

Q.3 What are space probes?



Ans: A space probe is a robotic space craft that does not orbit the Earth, but
instead, explores further into outer space.

Q.4 which planet has fourteen moons?
Ans: Saturn has fourteen moons and Jupiter.
Q.5 Is there life on Venus? Give a reason for your answer.

Ans: Although there is little possibility of existing life near the surface of Venus,
because it has a mild temperature.

Q.6 Are the planets the only objects orbiting the sun? What are some of other
satellites orbiting the sun?

Ans: No, the planets are not only objects, orbiting the sun. Some artificial solar
satellites also orbiting the sun.
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Unit# 4 Collecting things

Reading:

Word Meaning

Archaeology The scientific study of ancient culture.

Botanist A person with a scientific interest in plants.
Cabinet An upright piece of furniture consisting of drawers.
Preserving Storing carefully.

Question Answers:

1. What kind of things do people collect?

Ans: People can collect each and everything.

2. Why was stamp collecting so popular?

Ans: Stamp collecting was so popular is because stamps were easily obtained.

3. What are some of the things you will need in order to start a collection of flower?
Ans: You will need a sample of flower, newspaper, a sheet and hardboard.

4. Why do you thing one should not pick more flowers than one needs?

Ans: Picking more flower than one needs is wasting which is not good.

5. Why is a magnifying glass useful but not essential?

Ans: A magnifying glass can be used to study the flowers more closely but it not necessary.
6. What are the details you could write in your record book?

Ans: You can write the name, when and where it was found, its size, the colour and shape and
any other detail you wish.

Unit# 5 Perseus and the Gorgon
Reading:

Words Meaning
Constellation a group of stars
Ferocious Cruel r violent
Hideous extremely ugly
Mortal one that can die
Tyrant a cruel ruler
Dictation Words:

1. Banquet 2. Constellation
3. Cunning 4. Hideous

5. Furious

Answer the Questions:

Q1. What can we see in the night skies today that has the same name as the hero in this
Greek myth?

Ans: In the northern skies, if you look up in a clear night you can see a ‘constellation of stars’
called Perseus.

Q2. How is the Dictys described and what did he do that demonstrate his personality?
Ans: Dictys is a kind man. He allow Perseus and Danae to live on his land.

Q3. Who was Dictys related to?

Ans: Dictys was related to king Polydectes.

Q4. What present did king Polydectes asked his guests for and then what did he asked
Perseus to get him?



Ans: King Polydectes asked his guests to bring him a horse. Then he asked Perseus to get him
the head of Medusa.

Q5. What did Perseus feel when he saw the witches? Why?

Ans: Perseus felt disgusting when he saw the witches because they were hideous.
Answer the following questions with reference to the context.

a. How can | get rid of this irritating man?

Ans: Asked Perseus.

b. ‘Oh Perseus, don’t you know our custom’?

Ans: Said Polydectes.

c. ‘Be cunning as well as brave’?

Ans: Asked Athena.

d. ‘You have it you fool?’

Ans: Said witch.

e. ‘Go the northern shore’

Ans: Said Athena.

f. Bring me the head of Medusa?

Ans: Said King Polydectes.

Answer the following questions with reference to the context.
a. ‘Use your brain as well as your strength, Perseus’.

i. Who says this to Perseus?

Ans: Athena says this to Perseus.

ii. What does Perseus do that show he uses his brain?

Ans: He grabs an eye ball from the witches.

iii. What does Perseus do that show he uses his strength?
Ans: He bring back the head of Medusa.

Answer the following questions with reference to the context.

b. I will fight the monster and save you; he promised.

i. Who said these words and to whom they were they spoken?
Ans: Perseus said these words to Andromeda.

ii. When were these words spoken?

Ans: When he wanted to save Andromeda from sea serpent.

ili. What was the reaction of the person who heard these words?
Ans: He wanted to tell him to be very much careful.

1. Which of the following verbs are active and which are passive.
Answers only.

a. Active

b. Passive

c. Passive

d. Active

e. Passive

f. Active

g. Passive

h. Passive



I. Active and passive

2. Change the following into passives.
Answers only:

a. The football was kicked by the boy.

b. The picture was painted by the girl.

c. The jeep was driven by the man.

d. The kite was flown by the boy.

e. The letters were written by my father.
f. The parcels were brought by the postman.
g. The money was sent by Brian.

h. The prize was won by Jameel.

I. The swing was broken by Shahid.

J. The dress was sewed by Shazia.

Unit# 6 Bahlol

Reading:

Words Meaning

Serve provide custom with goods
Veranda porch

Seldom very rarely

Pantry place for staring food
Hover wait near somebody
Dictation Words:

1. Console 2. Pantry

3. Conciliar 4. Reply

5. Supper

Answer the following questions.

Q1. What kind of person was Bahlol?

Ans: Bahlol was a very calm and efficient person.

Q2. Why was there no food in the house that day?

Ans: It was the day before market day.

Q3. Why was Bahlol asked to feed the chickens?

Ans: He wanted to see the ill effect after eating the food by the chickens.

Q4. Did the councilor and his wife expect stay for supper?

Ans: No they did not expect to stay for supper.

Q5. Why the lady think when she heard the news that the chickens were dead?
Ans: She thought that the chickens had food poisoning and now she and her guests too would
supper.

Q6. How did the chicken die?

Ans: The chicken were eaten by fox.

Refer to the text and answer the question.

a. He’s gone to see if the chickens are still alive, I thought to myself.
i. Who is the speaker and who is being referred to as ‘he’?

Ans: Madam spoke these words and Bahlol was being referred as ‘he’.
ii. Why is the speaker wondering about this at this time?



Ans: Madam was thinking if the guests might eat expiry food, they would die.
iii. What happens immediately after this?

Ans: Bahlol burst into the room and wailed.

b. ‘I am afraid we have a problem, I explained.’

i. Who is explaining to whom?

Ans: Madam was explaining it to her guests.

ii. Why is an explanation required?

Ans: She was thinking the food given to guests was expired.

iii. What further explanation does the speaker give?

Ans: Madam requested the guests to get rid of the food while vomiting as she didn’t want them
to suffer them from food poisoning.

Make sentences of the given words.

Words Sentences

Exhausted My father is very exhausted when he comes from his office.
Plantation My Grandmother does plantation in our house garden.
Whimpering The starving whimpers a lot.

Irritating Dust causes irritation in our eyes.

Remark My teacher always writes good remarks on my note book.

2. See if you can match these.

A B

a. MP i. Saint

b. St ii. Limited

C. Sec iii. Company

d. VIP iv. Member of Parliament

e. Ltd v. Very Important Person

f. Co vi. Second
4. Here are some common idiom. Match them with their meanings.
i. to hit below the belt a. to praise one’s own good deeds
ii. to Kkill two birds with stone b. to discover a person in the act of committing a crime
iii. to catch someone red-handed c. to fight or argue unfairly
iv. to blow one’s trumpet d. to risk everything (money, time, etc.) on only one thing
v. to take the bull by the horns e. to undertake to solve a problem without hesitating

vi. to put all one’s eggs in one basket f. to succeed in doing two things with only one effort

Unit# 8 A flash of light
Reading:

Words Meaning

Briskly quickly

Glowing Shining

Cobbled made of cobbled stone

Greet welcome

Rattle move making a rattling sound

Glooming to be at the top



Dictation Words

1. Cobbled 2. Pavement
3. Distinguish 4. Valentine
5. Beggar

1. Answer the following questions.

Q1. Where was Valentine and what was he thinking about?

Ans: Valentine was in his neighborhood and was thinking about the warmth of his room and the
glowing fire of his room.

Q2. How did Valentine come to meet the bagger?

Ans: Valentine was on his way one evening when he met the bagger.

Q3. How much money did Valentine give to the bagger?

Ans: Valentine gave one franc to the bagger.

Q4. How did the blind bagger know what the coin was?

Ans: By the touch of the fingers he came to know what the coin was.

Q5. How was Valentine able to start the school for the blind?

Ans: Valentine was able to start a school for the blind by the help of donated money by the
people.

Q6. Which are some of the common words that have their own Braille symbol?

Ans: These are the common words that have their own Braille such as; and, if, for, it, the etc.
2. Say whether the following statement about the passage are true (T) or false (F).

a. Valentine seldom thought about blind people. (T)
b. Blind people can distinguish any mark on paper. (F)
c. Valentine gave a blind bagger a sou. (F)
d. A sou is of more value than a franc. (T)
Make sentence of the following words.

Words Sentences

Money Don’t waste your money.

Beggar | saw a bagger suffering from leprosy.

Blind Blind people cannot see.

Donate | always donate things to the deserving people.
Distinguished | always welcome my distinguished guests.

Grammar Club
Unit# 3 Infinitive of purpose

A. Compete these sentences using to buy and a word from the box.
1. We’re going to the music shop to buy a CD.

2. We’re going to the card shop to buy a card.

3. We’re going to the florist to buy some flowers.

4. We’re going to the bakery to buy a cake.

5. We’re going to the jewelers to buy some earrings.

B. Complete these sentences using the phrase in the box.

1. | sat at my desk to do my homework.

2. The boys went outside to play football.




3. Mother turned on the radio to listen to some music.

4. Grandfather put on his glasses to read the newspaper.

5. I looked in the phonebook to find your number.

C. Write short answers to these questions using To, with words from A and B.
1. Why did you go to the cinema?  To see a film.

2. Why did you go to the library?  To borrow some books.
3. Why did you go to the restaurant? To eat lunch.

4. Why did you go to the zoo? To see the animals.

5. Why did you go to the playground? To play football.

D. Where should I click? Look at this web page and then answer the questions using Click
on ..... to......

Answers only.

. Click on games to play a memory game.

. Click on music to listen to the music.

. Click on animals to find out about elephant.

. Click on sports to read about football.

. Click on jokes to read a funny story.

. Click on science to find out about the sun.

. Click on dictionary to find out what “shank” means.

. Click on pen pals to write to friend in another country.

E. Why do you use these things? Look at the pictures. Compete the sentences using to and a
phrase from the box.

1. Things you use when you are making soup.

You use a knife to chop vegetables.

You use a spoon to stir the soup.

You use a ladle to put the soup into the bowls.

2. Things you use when you are washing your hair

You use shampoo to wash your hair.

You use atowel_to dry your hair.

You use a hair brush to brush your hair.

Review

A. Complete these sentences using To and a phrase from the box.
1. | got up early this morning to finish my project.

2. Kaite took out some bread to make a sandwich.

3. | turned off the light to go to sleep.

4. Anna is saving money to buy a new bike.

5. We went to the art museum to look at the painting.

6. We ran to catch the bus.

7. Ben stood on a chair to reach the top shelf.

8. Joe looked in the atlas to find a map of Europe.

B. Complete these sentences using to and word from the box.
1. You use glue to stick things together.

2. You use a ruler to draw straight lines.

3. You use a rubber to rubout mistakes.

4. You use a sharpener to sharpen the pencil.

VN B WIN |-




Unit# 4 Will

A. Complete these sentences from Ben’s project about the future. Use will and a word or
phrase from the box.

People will live on the moon.

Cars will fly.

Robots will be teachers.

Watches will have phone in them.

Clothes will change colour.

B. Add ’ll to pronoun and then write be and a word or phrase from the box.

1. Next year I’ll be in Mrs. Larsen’s class.

2. It’s Angie’s birthday next week. She’ll be eleven.

3. Don’t call me at home tonight. I’ll be at my cousin’s house.

4. My father is in Lahore this week. He’ll be back on Saturday.

5. Grandfather and Grandmother are coming for lunch today. They’ll be here at twelve o’clock.

C. Rewrite these sentences using won’t.
1. I will not be at school tomorrow.

I won’t be at school tomorrow.

2. You will not need any suncream.

You won’t need any suncream.

3. The dog will not bite you.

The dog won’t bite you.

4. I will not be awake at ten o’clock.

I won’t be awake at ten o’clock.
Review

A. Will or won’t? Add’ll to the pronouns or write won’t.
Answers only.

Ll

2. won’t

3.1

4.7l

5. won’t

6. won’t

7. won’t

8.°l

9. won’t

10. ‘Ul

B. What do you think? Read these questions about life in the year 2060 and answer them
Yes, they will or No, they won’t.
Answers only.

1. Yes, they will.

2. Yes, they will.

3. No, they won’t.

4. yes, they will.

5. Yes, they will.

6. No they won’t.




Unit# 6 Might
A. Complete these sentences using might be and an adjective from the box.
Answers only.
1. Might be thirsty.
2. Might be hungry.
3. Might be cold.
4. Might be lost.
B. Can YOU UESS...cciueiiiniiieiiiieiiintiieetiestetsstssstossssssstossssssssssssssssssssssssssssssssssssnss
What they really are.
1. What is this? It might be a lion.
It might be leopard.
It is Tiger.
2. What it is? It might be lizard.
It might be snake.
It is frog.
C. Help Joe to find his skateboard. Write sentences using it might be. Use phrases and
words from the boxes.
1. It might be behind the curtain.
2. 1t might be in the laundry basket.
3. It might be in wardrobe.
4. 1t might be under bed.
D. Answer the questions. Write sentences using we might go to and the name of the place in
the picture.
Where are you going on holiday?
1. We might go to Switzerland.
2. We might go to Hong Konag.
3. We might go to Italy.
4. We might go to Thailand.
5. We might go to France.
E. Write two answers to each question using these words with might.
1. Where are you going after school?
| might go the library. | might go to the park.
2. What are you doing tomorrow?
| might go to visit my cousin. I might watch a DVD.
3. To whom are you going to send this postcard to?
| might send it to my Grandmother. I might send it to Aunty Rehana.
4. When are you going to finish your homework?
I might finish it tonight. I might finish it tomorrow.
F. Complete these sentences using might and the verb from the box.
Answers only.

1. Might slip
2. Might rain.
3. Might cut.

4. Might take.
5. Might wake up.

G. Complete these sentences using might not and the verb from the box.




Answers only.

1. Might not come.

2. Might not finish.

3. Might not like.

4. Might not play.

5 Might not be.

H. Rewrite these sentences using might instead of will.
Answers only.

1. We might go to swimming today.

2. We might not be in school tomorrow.
3. It might not be hot tomorrow.

4. Mother might not let us watch TV.

5. We might miss the bus.

Review.

A. Put the words in correct order.
Answers only.

1. It might be cold tomorrow.

2. We might go the beach.

3. She might be in her bedroom.

4. They might be at the supermarket.

5. 1 might not come to your party.

B. Complete these sentences using might and the verb from the box.
Answers only.

1. Might be.

2. Might drop.

3. Might read.

4. Might go.

5. Might scratch.

C. Do it yourself.

Work book

Page# 2

A. Parts of speech.

1. Do you remember the eight parts of speech you have learnt about?
Write the manes here.

a. Noun b. Adverb c. Verb d. Adjective
e. Preposition f. Conjunctions g. Pronoun h. Interjection

2. Tick the correct answer.

a. Anoun is i. a word which describe a noun.

v ii. aword used instead a noun.
b. An adverb i. a word which is added to the end of a verb.



v" ii. aword which describes how actions are done.

v i. aword which joins two groups of words.

c. Aconjunctionis  ii. a word which means ‘belonging to’.

3. Make lists of the following:

a. Three common noun: The generic for a person, thing or place.

b. Three proper noun: The name (title) given to a place, person or place.
c. Four adverb: Manner, time, place and degree.

d. Four adjective Quality, quantity, number and proper.

e. Five conjunctions: But, and, because, for, yet.

f. Five prepositions: At, in, on, since, of.

Page# 3

B. Punctuations:

a. (?) Question Mark b.(,) Comma c.(;) Semicolon
d. () Period e. (“”) Quotation mark f. () Single quotation mark
Page# 5

E. A herd of words?
1. Here is a list of phrases but they are not correct. Write the correct ones.

a. a bunch of wolves a pack of wolves.

b. a pack of bees a swarm of bees.

c. a clump of ants a colony of ants.

d. a nest of tree a clump of trees.

e. a swarm of grapes a bunch of grapes.

2. Here are some more collective nouns. Write the correct phrases.
Litter soldiers a litter of kittens.
Group thieves a group of musicians.
Troop musicians a troop of monkeys.
Regiment monkeys a regiment of soldiers.
Gang Kittens a gang of thieves.

Set  of fish a set of china.

Sheaf furniture a sheaf of corn.

Shoal china a shoal of fish.

Suite island a suite of furniture.
Group corn a group of island.
Page# 6

3. Now fill in the blanks. Some of the collection is not on this page. You have read about
them before.

a. a flock of sheep b. a bunch of keys

c. a herd of elephant d. a deck of card

e. a bundle of books f. a clump of trees

g. a pack of hounds h. a litter of puppies

Page# 13,14

Gender:

1. Write the feminine gender of the following. Your dictionary will help.
a. Bridegroom bridle b. Hen rooter

c. Hero heroine d. Stallion mare



e. Peacock peahen f. Host hostess

g. Fox vixen h. Gander goose

I. Wizard witch J. drake duck

k. Nephew niece l. Sir madam
m. Conductor conductress

Page# 18

Proverbs:

1. Complete these well-known proverbs.

a. All’s well that ends well.

b. Cut your coat according to your clothes.

c. Don’t count your chicken before they hatch.
d. A stitch in time saves nine.

e. All that glitters is not gold.

f. A bad workman always blames his tools.

Page# 19

2. Write homophones for the following:

a. yoke yolk b.mail male
c. steal steel d. great rate
e. wait weight f. sell cell
g. been bin h. flower flour

H. Preposition:
1. Fill in the blanks with; on, to, for, by, of, in. Use each word once only.

a. accused of some crime b. insisted on doing it
c. succeeded in escaping d. occurred to me

e. sorry for being late f. upset_by the incident
Page# 20

A. Done easily
1. Form adverbs from these adjective.

a. sensible  sensibly b. humble  humbly
c. lucky luckily d. polite politely
e. leisure leisurely f. terrible  terribly

Now fill in the blanks for these:

a. badly worse worst
b. late later latest
c. little less least

d. much more most

3.use an adverb instead of the underlined words.

a. the boy lifted the injured child with great care. (Carefully)

b. she spoke in a soft way to the child. (Softly)

c. the man spoke in an angry manner. (Angrily)

d. the children listened to their teacher with great attention. (Attentively)




B. He said he would
1. Change the following; use would.
a. He said, ‘I will certainly do the work for you.’
He said, ‘he would certainly do the work for you.’
b. Reham said, ‘I shall be at the party.’
Reham said, ‘he would be at the party.’
c. ’I shall take the small suitcase with me,” said the girl.
The qgirl said, ‘she would take the small suitcase with her.’
d. *we shall not stay long,’ they said.
They said.” they would not stay long.
e. They said,” we shall be in London in next year.’
They said,’ they would be in London in next vear.’

Page# 35
C. Working with words.
1. What is the collective name used for:

a. a group of bees? Swarm

b. a group of ants? Colony

c. a group of grapes? Bunch

d. a group of thieves? Gang

e. a group of kittens? Litter

2. What is the name given to the female gender of the following?

a. Actor  Actress b. Landlord Landlady c. Tiger Tigress

d. Host  Hostess e. Emperor Empress f. Boy Girl

g. Gander Goose h. Bull Cow i. Hero Heroin
Page# 36

Do you remember these proverbs? Can you complete them?

a. a bad workman blames his tools. b. Don’t put your eggs in one basket.
c. Barking dogs seldom bite d. Cross the stream where it is the shallowest.

D. Learning about language.

1. What is an interjection? Explain and give an example.

Ans: An Interjections is a word or group of words that expresses emotions. Excitement,
anger, horror, shock and happiness.

Aah! The monster got me.

2. Compete the following table.

a. quickly more quickly most quickly

b. hard harder hardest

c. early earlier earliest

d. fortunately more fortunately most fortunately
e. pleasant more pleasant most pleasant

f. little less least

Page# 41

E. prefix and suffix
1. Make new words by using one of the prefixes above.



Trust tent part courage late port
Distrust extent depart discourage dilate export
2. Make new words by using one of the suffixes above.

Peace safe dance big shame happy
Peaceful safely dancer bigger shameful happily

Page# 42

2. Use each conjunction once and fill in the blanks in these sentences.
Answer only.

a. So

b. While

c._Although
d. Unless

page 43

B. Active and passive

1. Say whether the following verbs are in the active or passive voice.
Answers only:

a. active

b. active

C. passive
d. active

e passive

f. active

g. passive

h. passive

i. active

| passive

2. Now change the voice in these sentences; make the active verbs passive and the passive
verbs active.

a. Sameer caught the ball.

The ball was caught by Sameer.

b. The elephant was seen by a man.

The man saw the elephant.

c. Basketball was played by the whole class.
The whole class played basketball.

d. Amir invented the new machine.

A new machine was invented by Amir.
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Unit#6 Bahlol

A. Participles

1. Underline the present participles in the following sentences.
a. The sleeping princess is the king’s daughter.

b. Hearing the child speak, we were very happy.

c. | heard some children laughing in the room.

d. Shahid watched the bus coming up the road.

e. The farmer ploughing the fields stopped to eat lunch.

f. The rotting tree is falling down. Be careful.

2. Now fill in the blanks with suitable present participles.
Answers only:

a. cryin

b. rolling

c. interesting
d. seeing

e. singing

f. picking

g. drawing
h. irritating

Page 49
Unit# 7 Uncle Shams

A. Noun and verbs

1. Try to make noun by using the suffixes above and fill in the blanks.
Answer only:

a. vibration

b. discovery

c. dentist

d. teacher

. acceptance

Page 53
Everyone Sang
A. Past Participles
1. See how many blanks you can fill in, without taking help.

Present Tense Past Tense Past Participles
Arise arose arisen

Awake awoke awoken

Bear bore born

Befall befell befallen

Blow blew blown

Catch caught caught

Choose chose chosen



Do did done

Drink drank drunk

Eat ate eaten

Fall fell fallen
Forbid forbade forbidden
Give gave given
Know knew known
Mistake mistook mistaken
Ride rode ridden
Seek sought sought

Sew sewed sewn
Shrink shrank shrunk
Weave wove woven
Withdraw withdrew withdrawn
Page 54.55

1. Below are some sentences with blanks.........cccoiveiiiiiiiiiiiiiiiiiiiniiinninn you can fill
with suitable ....cvviiiiiiiiiiiiiiiiiiiiiiiiieeenennnnes from the noun.
Answer only:

a. sunny

b. gigantic

c. furious

d. humorous

e. dangerous

f. pictorial

g. scientific

h. effective

i. skillful

Saint Mary’s Convent Girl’s High School.

English B: 15t Term Class: 5

Singular/Plural.

l.actor actors 12.toy toys

2.intention  intentions 13.0x oxen

3.lady ladies 14.man men

4.body bodies 15.fish fish

5.country countries 16.tooth teeth

6.donkey donkeys 17.sheep sheep

7.ray rays 18.mouse mice

8.life lives 19.news news



9.leaf leaves 20.key
10.child children 21.essay
11.knief knives

Word/Opposite.

1.alive dead 15.war
2.bold timid 16.safe
3.careless careful 17.respect
4.double single 18.pretty
5.land sky 19.ill
6.fire water 20.real
7. difficult easy

8.heaven hell

9.direct indirect

10.fair unfair

11.seperate together

12.sharp dull

13.joy grief

14.right wrong

Masculine/feminine.

1.author
2.drone
3.emperor
4. hunter
5.horse
6.lad
7.inspector
8.prince

9.tailor

authoress
bee
empress
huntress
mare

lass
inspectress
princess

tailress

keys

essays

peace
unsafe
insult
ugly
healthy

imaginary



10.uncle
11.cousin
12.deer
13.peacock
14.wizard
15.washerman
16.0x
17.father
18.sister
19.husband
20.son

Tense table.

Tense

Present indefinite
Present continuous

Present perfect

aunt

cousin

doe

peahen

witch
washerwoman
buffalo
mother
brother

wife

daughter

1%t person
Singular

| write
I am writing

| have written

Present perfect continuous | have writing since

Present indefinite

Present continuous
Present perfect

Present perfect continuous

Present indefinite

7’0 clock
Singular

You write

you are writing

you have written

Singular

(He, She, It )she writes

plural

We write

We are writing

We have written

We have been writing for 2 hours

2"d person

you have been writing since morning

34 person

plural

You write

you are writing

you have written

you have been writing
For 1 hour
plural

They write



Present continuous she is writing. They are writing,

Present perfect she has written. They have written,
Present perfect continuous She has been writing for They have been writing
3 hours. Since evening.
Final Semester Syllabus English; B Class 5

Singular/plural, word/opposites, Masculine/ feminine, Definitions sentence, finite and Infinite verb
,Transitive and Intransitive verb, Direct and Indirect speech, Application To councilor for cleanliness of
your colony or Area, Application for remission of fine ,Letters , To your uncle for gift(2) To father about
Exam Money ,Stories ,1 The Hare and the Tortoise,2 ,The Ant and The Grass hopper. Essays 1,
Cleanliness.2, Importance of games and sports, Tens Table,

Singular/Plural.

Singular Plural
1.angel angels
2.arm arms
3.fly flies
4. hair hair
5.story stories
6.victory victories
7.ray rays
8.self selves
9.storey storeys
10.watch watches
11.axe axes
12.bush bushes
13.hero heroes
14.essay essays
15.thief thieves

16.louse lice



17.goose geese

18.loaf loaves

19.sky skies

20.potato potatoes

Word/opposite

1.above below 2.swim drown
3.hard soft 4.buy sell
5.sit stand 6.black white
7.catch throw 8.learn .teach
9.sleep awake 10.tiny huge
11.thick thin 12.new old
13.under over 14 fresh stale
15.weep laugh 16.peace war
17.hot cold 18.question answer
19.true false 20.far near

Masculine/feminine

1l.nephew niece 2.lion lioness
3.poet poetess 4.tailor tailress
5.male female 6.wizard witch
7waiter waitress 8.his her
9.bull cow 10.tiger  tigress
11.uncle aunt 12,son daughter
13.cock hen 14.master  mistress
15.lord lady 16.king gueen
17 fish fish 18.boy girl

19.dog bitch 20.0x buffalo



Definitions;
Sentence; A group of words which makes a complete sense .It has two parts;

1.subject 2.predicate

Example; The boy kicks the ball

MNsubject N predicate
Saima writes on the copy
MSubject M predicate

Finite and Infinite verb

Finite verb; Finite verb act as a verb

For example; | go.

Non-finite verb; non-finite verb does not act as a verb for example;

The sleeping cat

Infinitive verb ;  The infinitive verb is usually succeeded by to.

For example; To write.  To sleep

Transitive and Intransitive verb;

Transitive verb ; A transitive verb have one or more objects.
For example; | bought a Car

Intransitive verb; It does not have object.

For example; The girl smiled.

Applications;
To Councilor for the cleanliness of your colony or area.
The councilor.
City District Govt.
Gujranwala.
Sir,
Respectfully it is submitted that the system of cleanliness of our colony is very

Defective-Heaps of garbage ,dust and dirt are seen everywhere . In rainy season, The



Flies and mosquitoes may cause epidemic diseases.

Kindly direct your staff to improve the system of cleanliness.
We shall be greatly obliged to you for this favour
Yours obediently
Name;

Date

Application; To the Principal for Remission of fine.
The Principal,
St .Mary’s Convent Girls High School,
Gujranwala.
Respected Sister,

With due respect, it is humbly stated that, | couldn’t attend the school
during last week due to illness. My family was not at home. There was nobody to bring my application
to school. | have been fined, 250/= kindly remit my fine .1 shall be very thankful to you for this favor.

Yours obediently,
Name;

Class;

Date;

Letters;

1.Letter to uncle thanks for gift.
Examination Hall,
City, A.B.C.
May, 15,2020.
Dear Uncle,

Thank you for your letter we are fine here. You have sent me a gift of wristwatch on my
birthday.

Thisis gift of wrist watch . | am very happy to receive it. It will make me punctual.
Thank you very much for this gift.

Yours loving niece,



Name;

Letter to father about Exams,money and books
Examination Hall,.

City A.B.C.

May, 20,2020.

Dear father,

You will be pleased to know that | have passed the examination of class Four. Now |
am in class Five. | have to buy new books and note books for the new class .l have to pay the school fee
also . Please send me Rs.2000/ urgently .

Your Loving daughter,

Name;

Stories;

1. The Hare and the Tortoise.

Once the was a hare.He asked to a tortoise to run a race with him .They fixed the top of a hill as winning
post.They started off at once.The Hare ran very fast .But soon he felt tired. He laid down under a tree to
take some rest . He fell fast asleep ,But the Tortoise went on moving .When the Hare wake up,he ran as
fast as could.But he was as ashmed to see the tortoise already sitting at the winning post.

Moral; Pride hath a fall..
2. The Ant And The Grass Hopper;

An ant and a grass hopper are friends. One day ,the ant says to the grass hopper that rain would come
soon. Let us get some food. Grass hopper says that there is much time. They should play. The ant does
not play . He goes away for food . The grass hopper sings and plays all the day. One morning ,it rains
heavily and lasts for many days . The grass hopper has no food. He is very hungry .He goes to the ant
and asks for some food.The atint does not give him any food and asks him to go and play.



Moral; Do not put off till tomorrow, what you can do to-day. A stitch in time, saves nine .

Essays;
Cleanliness;

Cleanliness is the state of keeping clean and remains away from the dust and dirt .It is not a work which
we do forcefully. It is a good habit and healthy way of living.

It can be;

(a) Personal cleanliness.

(b) Surrounding cleanliness.
(c) Environmental cleanliness
(d) Pet animal cleanliness.
(e) Work place cleanliness.

Itis as necessary as food and water for us . We need to clean ourselves , home, surrounding areas,
garden etc. Cleanliness among students are promoted through many activities ,like cleaning of class
rooms ,school campus ,waste segregation essay writing, painting on cleanliness, poem recitation. Huge
population is dying daily just because of diseases due to the lack of cleanliness .We altogether need to
take step towards cleanliness to save thousands of lives. We should show our active participation in
cleaning our environment.

2. Importance of Games and sports;

Sports and games are very important for the mind and body. If the body is not used ,it becomes weak.
Sports make the body and muscles strong . Those who play games regularly, remain fit and healthy. In
Pakistan, cricket, foot ball and hockey are popular sports .Games and sports discipline the body and
mind. The players have to cooperate with their team mates. They play according to the rules of the
game. They become better human beings. The people play for pleasure and recreation. Games and
sports refresh us and give us energy. If one wants to live healthy and strong with long life, he should
spare time for games or sports we should take parts in different sports or games.

Direct and Indirect.
Original and Reported speech.

Assertive Sentences.



1. Direct And Original;

Nisar says to me”l shall speak the truth”.

Indirect Reported speech;

Nisar says to me that he will speak the truth.

2.Direct or original speech;

Saima will say, “I have not seen him.”

Indirect or Reported speech;

Saima will say that she has not seen him.

3.Direct or original speech;

Ahmad said to me, “Your brother is very weak in English”.
Indirect or Reported speech;

Ahmad told me that my brother was very weak in english.
4.Direct or original speech;

He said, “l want ten rupees.”

Indirect or Reported speech;

He said that he wanted ten rupees.

5.Direct or original speech;

| said to her, “You were not writing a letter.”

Indirect or Reported speech;

| told her that she had not been writing a letter

Tense Table;

Tense First person
Singular plural
Past Indefinite I We
| wrote we wrote

Past continuous | was writing we were writing



Past perfect | had done We had done .
Past perfect continuous | had been writing for 1 hour We had been writing since morning

Second person

Singular plural
Past Indefinite You wrote you wrote
Past continuous you were writing you were writing
Past perfect You had done you had done
Past perfect continuous you had been writing you had been writing since afternoon

since afternoon

Third person.

Singular plural
Past Indefinite (he, she, it.) They
She wrote they wrote
Past continuous she was writing . They were writing.
Past perfec. she had done. They had done.
Past perfect continuous she had been writing for 5 hours they had been writing for 5 hours.

J. dangerous



St. Mary’s convent Girls High School
Second Term Svllabus
Class 5

Lesson no 11: The Government and the law

Q. Fill in the blanks.

1. The senate ensures that the provincial government follows the constitution.

2. The seat of the federal government is in Islamabad.
3. The P.M represent the country abroad as the head of the state.

4. Laws are debated in the National assembly.

5. Everyone over the age of 18 can vote.

Q. Write what each of these words mean.

1. Prosecute: Institute or conduct legal proceeding against a person.
2. Lawyer: a person who practises law.

3. Magistrate: a civil officer who administrates the law.

4. Tribunal: a body established to settle certain types of dispute.

5. Evidence: the available body of facts or information.

6. Witness: a person who sees a crime.

Q. Find out the meaning of word democracy.

Ans. A State governed under system of democracy.

Q. Why it is important to vote?

Ans. Voting is fundamental right of any citizen that enables them to choose the leaders of tomorrow.
Q. Why it is important to have laws in a country?

Ans. Without law, things do not run so smoothly.

Q. Describe the role of the judge.

Ans. The role of judge is to keep order or to tell you the sentence of the person.

Lesson no 12: our culture

Q. Circle the correct answer.
1. Pakistan came into existence because of:
a. religion b. population c. climate

2. The Muslim population of Pakistan is:



a. 50% b. 90% c. 97 %
3. The official language of Pakistan is:

a. Urdu b. Sindhi c. Punjabi
4. Ho Jamalo is a the most popular dance of :

a. Sindh b. Punjab c. KPK
Q. Name a traditional handicraft.

1. Wood work

2. Pottery

3. Leather

4. Pashmina shawls

5. Bamboo handicraft

Q. Name the Islamic festivals which are celebrated in Pakistan.

1. Eid-ul-Azha

2. Shab-e-barat3

3. Eid Milad un Nabi

4. Pakistan day

5. Independence day

Q. What are our some of traditional food?

Ans. Its dal Chawal, chapatis and Meat.

Q. What are the common characteristics of Pakistan in culture?

Ans. Religion, language, Food, clothing, sports, and arts and crafts.

Q.What is the advantages of multicultural society?

Ans. A multi-cultural society allows you to feel a connection to different cultures and ability to understand
different cultures and culturally different points of view. It makes you more open minded on their culture.

Lesson no 13: Early History of Islam

Q. Name some Islamic countries in the following areas.
1. South- east Asia: Indonesia, Malaysia, Bangladesh
2. Africa: Nigeria, Egypt, Morocco

3. The Middle East: Pakistan, Arabia, Afghanistan



Q. Name the four caliphs and also give the dates of their rule.
1. Hazrat Abu bakar (632-34)

2. Hazrat umar Ibn —al- Khatab (634-44)

3. Hazrat Usman Ibn Affan (644-56)

4. Hazrat Ali (656-61)

Q. What problems did Hazrat Abu Bakar face as a caliph?

Ans.In Hazrat abu bakar’s time there were many uprisings people still held their old beliefs; some of them
refused to pay taxes, and some themselves declared to be prophets.

Q. Why are the first four Caliphs held in special esteem?

Ans. Their position held in high esteem as they were the close companions of of the Prophet and had
observed and learnt from him.

Q. In what ways did the Hazrat Umar contribute to Islam?

Ans. Under his leadership Islam spread further into Syria and into Iraq. Battles were fought against the
Persians, and the followers of Islam took control of half of Jerusalem, and Palestine, and Khorason.

Q. What major work was completed during the time of of the Third Caliph?

Ans.The important work of completing the compilation of the Holy Quran was done during the caliphate of
Hazrat Usman.

Q. During Which century did parts of Sindh and Punjab come under Muslim influence?

Ans. In the subcontinent, with Mohammad bin Qasim’s invasion in 712-12, Muslims rule spread through
Sindh into lower Punjab.

Lesson no 14 The struggle for independence

Q. Complete this time line by writing the correct dates.
1. 1857: war of independence.

2. 1858: British Government takes control of India.

3. 1885: the Indian National congress is set up.

4. 1906: the all India Muslims league is organized.

5. 1930: the Allahbad Resolution by Allama Igbal.

6. 1940: the Pakistan resolution at Lahore.

7.1942: Quit India Movement.

8. 1947: Pakistan emerges as an independent country.

9. 1947: India becomes independent.



Q. Why were the Europeans interested in the East?

Ans. The land was rich in spices, fruits, cloths of different colours and textures, fabulous ornaments, and
jewellery.

Q. Who were the first Europeans visitors to the subcontinent?

Ans. The First Europeans visitors to the subcontinent were Portuguese traders.
Q. When did they come?

Ans. They came in 1600 century.

Q. Describe some of the things the British did for the subcontinent?

Ans. They introduced their language, architecture, politics, and their ideas.

Q. Why could the people of the subcontinent not succeed against the British?
Ans. Because the local people were not united.

Q. Who were the leaders who helped to unite the Muslims?

Ans . Quiad-e- Azam, Allama Igbal, and Sir Sayed Ahmed khan.

Q. Who was Allama Igbal and why he is famous?

Ans. Allama Igbal was the greatest poet and he is famous for his poetry.
Q.Who is known as the Quaid-e- Azam ? What does it mean?

Ans. He is known with affection and respect as Quaid-e- Azam, which means Great Leader.



et
()sssf-g s
e eslz
oL



T4

—://!/*
g S

F L6 Jof 2) S0
~ LS

:lj‘/‘nglef'KUULnuﬁLU;/}'yuﬁJ?‘quu:’hJ"’
WL M3 ELeJEFR) U rE)

—:JbJ’b-Z

:W’nﬁwt/rgJ:Ltjo)ﬁrufu%%fudlad;’
e e M13) e e JF (D) ter (1)

S

:@’nt/uﬁLL)Li;LT(KufJ?LLJ’}oﬁﬁf
¢ fuie) LindF f) b

te bz Ul (s
S FT o Jee St U e
(0, N— G4 L2t
(o ¢ Fusfiz
() i Se3
() S Wi G4
(V.30 NN g S s
P ol - A S S
a4 95’% ......... B -1
(S ) JEEo
T > 63
o TS R e i fa
ol ek 5§08
I - Fi
—w A E S

caE Fe S Ll S

e J6 A - W A (1)
P Y )
eS8 LI L)
iy P S U
_uj':i I /u’i’yzél;(g/?f



~e U -
e ditaef -
i P -

)
((}G)
(gt
(=s12)
(W)

A el A
—e =l 2
St P L)

Sy

gL el Fe
.Lg’,wuLo,@u-1
LW a2
'Y s Ll -3

by reslz-4
<<<<<<<<<< Lt b §1-5
g G U
.......... Wi ¢

(or) e C L i -4
() oo Yesdl A5
MAF (60-61)7 2 _5WIisl e
,;>UUfuéb)’

S st

(e—yz5) S 521
) QoS . & 0 (512
(D) RS [ L Ulg-3
&*n S ,J‘jl?/%uf-4
(€ - U eril -5
‘u:”’ixwu;n;?eze

=y el

(0757 R L

(D S — o

(%) J— oy

((CET7) R ——
1340 Forlf et Pl
(67,68,69) & 47~
S Y
NSRS I
(€77 I < 0¥ F 1os-1



A 0w oo @

() - < UIS £9-2
(D I— s
P — e A Kb ot
03 NN cud i tins
-Q‘/c/b/giﬁﬁ*
(CRTANYT3P) R < F1soll 21
(CESPNSE 1) B PRSI SR S
(Lct/:»‘f/:j) .................. LLC/;««‘;L.;T-B
NS 0 R — <& FuS ra
(O 0 — <8 Ul sl -5
17/:}J¢” el
(88,89) & 4
el (s
e ¢
- 3
S U b U1
6T 4 tk UK-2
by 0 £7-3
bxr ol PRE
S5 b -5

e

by 1 N tos ) L
) ( )« ) ( )
S E e S L

_t/(ff; S - Bzl < BTy s ueT
1943 b
9097 & (LLiFe) et

e 3 (L LS o) wptladn2

1043 Al
1064 3% (s GBI ) et 15 £ (P

1077 2660 i) erdnd L2

21757 ol
1M1 4 5L

N3A 5§ S U2

2243 el
1214 #° PR



304 F

1224 # JU 12
1234 47 6L i3

304 S 2l (o) 2l
(22,21,20,19,13,6) ~: 015

5) IBte t 2§ E S L F s
5) ,nggb(é_l)@”d?ufu?ufqbrtéﬂb*
5) (d}@:«;’r‘éLU.)(ﬁﬁqwffﬂJ&Z:*

5) S
5 g I LSO e PV UM S e

_______________ W5

5) GIESOE L s e e AR
...... < B2l -1

----- ol i rutbn-2

_____ Venf -3

,,,,, c;.c;«'/.u/“@"—4

..... LL/({G}UGﬁ'd-E)

.”/:.:;QL ()i

(22,21,20,19,17,11) —: 3L

5) . 46L Jis L Uik w’quf’*

5  (LLS et Lo

5) u:"q_wvi'u*
S S

5) -wﬁqdf*ﬁ#/’d/dfmd‘u



